
19-Sept-2014

D
-Sub, Right A

ngle, PC Tail107-XXXXXXXXXXX

107-XXXXXXXXXXX

19-Sept-2014
N

TS

Initial Release
N

. Boon
N

. Boon

3.0
0.25

1.5

1.0
0.13

0.13



19-Sept-2014

D
-Sub, Right A

ngle, PC Tail107-XXXXXXXXXXX

107-XXXXXXXXXXX

19-Sept-2014
N

TS

Initial Release
N

. Boon
N

. Boon

3.0
0.25

1.5

1.0
0.13

0.13



19-Sept-2014

D
-Sub, Right A

ngle, PC Tail107-XXXXXXXXXXX

107-XXXXXXXXXXX

19-Sept-2014
N

TS

Initial Release
N

. Boon
N

. Boon

3.0
0.25

1.5

1.0
0.13

0.13



19-Sept-2014

D
-Sub, Right A

ngle, PC Tail107-XXXXXXXXXXX

107-XXXXXXXXXXX

19-Sept-2014
N

TS

Initial Release
N

. Boon
N

. Boon

3.0
0.25

1.5

1.0
0.13

0.13



19-Sept-2014

D
-Sub, Right A

ngle, PC Tail107-XXXXXXXXXXX

107-XXXXXXXXXXX

19-Sept-2014
N

TS

Initial Release
N

. Boon
N

. Boon

3.0
0.25

1.5

1.0
0.13

0.13

B:Grounding Strap full include(7.2mm)

A:Grounding Strap half include(13.84mm)
S:Front nuts #4-40unc with round "-" font #4-40 unc(6.1*11.94mm)s

crewl
ock

 inst
all

ed

9:Grounding Strap full include(13.84mm)

8:Plastic, L-shaped bracket(suspend machined pin)

8:PC99 yellow

7:PC99 red

h.C
ont

act T
ype 

1:Blue

A:#4-40 threaded hole with pan head screw(cross slot) screwlock 
insta

lle
d

9:Front hex rivet,5.9mm (#4-40 unc) 
8:#4-40 threaded hole with screw locking t

ype #4-40 unc(4.80*11.80mm
)

7:#4-40 threaded hole with M2.6(4.8*11.8mm)screwlock installed

6:M2.6 threaded hole
5:#4-40 threaded hole with M3(4.8*11.8mm)s

crewlock installed

0:None

5:Green

f.Rivet Options 

2:Black(standard)

3:White

4:Gray

1:
Stamp

ed 
conta

ct

2:
Machi

ned
 cont

act

0:
Witho

ut 
Ferri

te

1:
With 

Fer
rite

i.F
err

ite O
pti

ons 

6:Black(high temperature)

B:#4-40 threaded hole with #4-40 unc(6.2*11.8mm)screwlock install
ed

H:M3 boardlock
I:#4-40 threaded hole with #4-40 unc(5.8*11.8mm)screwlock install

ed
J:#4-40 threaded hole with #4-40 unc(4.8*11.8mm)screwlock install

ed+fl
at 

washe
r

M:Front round rivet, #4-40 unc

L:#4-40 threaded hole with screw locking type M3(5.8*11.8mm)
K:Front hex rivet,5.9mm(M3)

N:#4-40 unc boardlock installed

P:Front hex rivet(5.0mm), M3

Q:#4-40 threaded hole with screw locking type M3(5.8*10.8mm)

R:#4-40 threaded hole with screw locking type #4-40 unc(5.8*11.
8mm

)

7:Plastic, Grounding Strap+Grounding 

C:#4-40 threaded hole with M2.6(5.8*11.8mm)screwlock installed
D:#4-40 threaded hole with M3(4.8*11.8mm)screwlock installed+fla

t w
asher

E:#4-40 threaded hole with M3(5.0*13.0mm)
screwlock installed

F:#4-40 threaded hole with M2.6(5.8*11.8m
m)screwlock installed

G:#4-40 threaded hole with #4-40 unc(5.8*
10.8mm)screwlock installed

6:3.0
mm 

footp
rin

t

2: Female

1: Male

b. Contact Type

a. No. Of Contacts:

0.Gold flash selective gold(standard)

c. Contact Plating

1.5u"selective gold on contact

2.10u"selective gold on contact

3.15u"selective gold on contact

4.30u"selective gold on contact

e.Insulator Color

j.
Foo

tprin
t 

1:
7.2mm

 fo
otpri

nt

2:
9.4mm

 fo
otpri

nt

3:
13.84

mm 
footp

rin
t Typ

e 1

4:
13.84

mm 
footp

rin
t Typ

e 2

5:
5.08m

m f
ootpr

int

7:
13.84

mm 
footp

rin
t Tye

p 3

8:Full tin

7:Gold flash selective gold add plating

6.Gold flash full gold 

5.50u"selective gold on contact

0
9
:
 
0
9
 
p
o
s
i
t
i
o
n
s

1
5
:
 
1
5
 
p
o
s
i
t
i
o
n
s

2
5
:
 
2
5
 
p
o
s
i
t
i
o
n
s

3
7
:
 
3
7
 
p
o
s
i
t
i
o
n
s

d.Shell plating 

5
.T
in
,
no
t
di
mp
le

8
.
C
r
 
 
y
e
l
l
o
w
 
chrome,dimple

7
.S
pe
ci
al

t
in
,
di
mp
le

6
.
C
r
 
 
y
e
l
l
o
w
 
chrome,dimple

4
.
G
o
l
d
 flash

0
.
 
C
r
 
 
y
e
l
low chrome

2
.T
in

1
.
N
i
c
k
e
l
(
standard)

3
.C
r

y
el
lo
w
ch
ro
me

+
3

+
6

+
6+
3

(
plast

ic 
long 

Typ
e, Bo

ard
lock 

7.2
mm)

(
plast

ic 
long 

Typ
e,Boa

rdl
ock 1

3.8
4mm)

(
plast

ic 
short

 Ty
pe,Bo

ard
lock 

7.2
mm)

3:
Machi

ned
 cont

act
(with

 sh
aped 

pla
stic)

T:#4-40 threaded hole with round "-" font #4-40 unc(5.0*10.0mm)s
crewl

ock
 inst

all
ed

U:#4-40 threaded hole with screw locking type with round "-" fon
t  #4

-40
 unc(

6.1
*11.9

4mm
)

C:Grounding Hook Boardlock+2 prong(matte tin) 

9.Matte tin

g.Flange Mounting Option 

1:#4-40 threaded hole

3:#4-40 threaded hole with #4-40 unc(4.8*11.8mm)screwlock bulk-p
acked

4:M3 threaded hole

2:#4-40 threaded hole with #4-40 unc(4.8*11.8mm)screwlock instal
led

V:#4-40 threaded hole with #4-40 unc(3.9*10.57mm)screwlock insta
lled

W:#4-40 threaded hole with #4-40 unc(4.2*1
0.7mm)screwlock installed

4:
Stamp

ed 
conta

ct(
Phosh

or 
Bronz

e)

X:#4-40 threaded hole with #4-40 unc(5.8*1
3.0mm)screwlock installed

9
.M
at
te

t
in

D:Grounding Hook Boardlock+4 prong(matte tin) 

9:PC99 Purple

A.30u"selective gold on contact;matte tin

E:Rear rivet, 4.0mm

Y:#4-40 threaded hole with #4-40 unc(5.0*10.0mm)screwlock instal
led

3: Male(reverse direction)

4: Female(reverse direction)

B.15u"gold flash full gold 

6: Female(3.5mm)

O:#4-40 threaded hole with #4-40 unc(5.8*11.8mm)screwlock bulk-p
acked

A:Black W/O halogen

8: Female(4.0mm)

A
.
N
i
c
k
e
l
 
p
l
a
t
e
d
(With Y-S Logo)

B
.T
in

p
la
te
d(
Wi
th

Y
-S

L
og
o)

6:Grounding Strap, clear hole

5:Grounding Strap, M3

4:Grounding Hook Boardlock+4 prong

1:Grounding Strap #4-40 threaded on panel

2:Grounding Strap #4-40 threaded on PCB&panel

3:Grounding Hook Boardlock+2 prong(Tin) 

Hook Boardlock 2 prong

0:
3.05mm clear hole



19-Sept-2014

D
-Sub, Right A

ngle, PC Tail107-XXXXXXXXXXX

107-XXXXXXXXXXX

19-Sept-2014
N

TS

Initial Release
N

. Boon
N

. Boon

3.0
0.25

1.5

1.0
0.13

0.13

#
4-40


